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|

|
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A statement showing relationship Detween
different elements is given, followed. by two
Con’cl’usions, I and II. Assuming the
statement to be true, find out which of the
conclusions is/are definitely true.

6.

Statement: F = I<N <G =E<R

Conclusions I: E>F

m:R>I R>1
(1) Both conclusions I and II are true. gl) T Frepg 19 0w 2)
3 |
(2) Neither conclusion I nor conclusion II 2 FF ey
is true. Iqﬁﬁ&“‘fllm%.

(3) Only conclusion I is true.

“

Only conclusion II is true.

7. R'sfather is the only son of ‘B’ and brother of

Identify the dia
re\ationsh-lp

T
Bram that p,
)
chemicals,

®)

@

a st re.
ong. acids ‘:‘35‘1\’\\5 the \ 9.

Aseg an(\\ - :\w‘"‘fﬂ?ﬁi'ﬁ
T T o 1, o EW_@(\W
\\ TR =, T R

\ » @
@

\
\
\
\
\
\
\
\
\
\
\

4)
&S
7 L -
“P'. ‘A’ is the daughter of ‘B’ and ' : N
5 ; sister of N lect the t NGl
Q. How is P related to Q 7 A B Gy — 10. ‘-;e\;; (7);3‘:§\1 \ace's the quest'\on\ly SE R TR SR T R () F wm
a Nephew ety €2 ; m3 6-07 e Pl ‘\he given series, \ T ’mm‘*«g\m\ﬁ\ 9 =
7 , , i AW
R (1) . e ' WS o e0h s, 2 v e
()  Sister e b @) 10s21 \ o '
@ e 8R15 i
(3) Brother @ | @ s
3
B ik G W h @) 10815 @ 10815
A9 ﬂ’rﬁ?ﬁg (dym—riORA | @
' . 2 \
8. Pomting towards a gentleman, Sonj i (% = 11.  Sixboys M, N, O, P, Q and R are sitting in a \ 1. TR EEH M, N, O, P, Q T R T TR I
“His only g ) man, a said, § 8. TH G5M &) aig 5 . U A Y are it i S o SR T 508 e
Y daughter is the sister of my Sor’ e Hhd w0 T, S circle facing the centre. ‘M’ and ‘0’ are sitting TEF TR T AW TE G FWRL ‘W
father.” How is the gentleman relyt N RAgl 33’7;11?} T W T3 ¥ iy e 3 i together and also ‘P’ and ‘R’ are sitting \\ O FE I TWTRWP MR AW
Sonia ? o s W, WY e together. 'K issitfing to theleftof Q. There | FE R R, QT AT M 2
(1) Broth ‘ \ are two boys sitting between ‘M’ and Q. 'N' \ ‘Q ?ﬁﬁﬁﬂ_?\fﬁﬁﬂi\ N0 iﬁ_Tv
- is sitting left to ‘0", Who is sitting in between \ @Tﬁ?ﬂ%l}y 3,?\_R‘0' FHRTT AL
(2 Brother-in-law P and ‘O’ ? \
1) R
() Husband ® % 1\ ((2) Q
2
@) Father-ininu ® Q L o
0]
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13.

known facts,
conclusion(s) 1081

statements‘

Statements :

1.  Some tables ar¢ chairs.

2. No chair is Almirah.
Conclusions :
1. Some tables are Almirahs.

1. No table is Almirah.

(O]
@

Both conclusions I and II follow. -

Either conclusion I or conclusion II
follows.

Only conclusion I follows.

®)
@)

Only conclusion II follows.

Samir walks 5 meters towards East. He then
turns towards his right and walks 10 meters
more. After that he turns right again and
walks around 10 meters. Then he takes
opposite turn and walks 5 meters. Which
direction is he facing now ?

—F

(1) South
(2) West
(3) North
(4) East

E3E

12.

(1) =

o e T E P W
O SRR N
A AT T q:‘ﬁg 14
e e e el § §
m@ﬁ‘ﬁ?ﬁ%/ﬁmﬁ%l %\

'y
o

1 FEE g

5w ST T R

frremnd :

L 3o s €

FE A S T T |

o SR SR 11 3R & Frem €
) “T%I‘Wlmﬁ@ﬁnﬁwm%l

wﬁt*ﬁaﬁﬁnsnﬁaw%l g AT T
Wg‘e{m%ﬁmouﬁaw%l TR T
o R TP T IR e § S 10 et = ¢
TR e T TS & 8 5 el e ¥ I
o T T fen 1 SRE?

- of the statement(s) is/are sufficient to answer \

Given below is a question followed b

statements numbered 1 and 1§ i

containing some information, Decid; e:,d;\\\
. whidl

4, ﬁmmﬁmmt,mmﬂ T
A 11, T T I S, U i
e 5 R WA TR, TR IWRY
wia /A N

the question?

What is the difference i o 5
ce in the age of ‘F and\ ’F.’ ﬁt'gﬂ aR R mﬂ%?

g7
\

statemem 1: ‘E is 10 years younéer than \
T, \

Fa1: /E,'x;igxgmzﬁmz\

gtatement Iz “T'is § years older than'F'. \ F: T, E A5 TR il

(1) Both statements 1 and I together e\ @y R LA e
necessary to answer the question. \\ S E T T AT €
ither the statement 1 alone or | @ wWAFAL SRR T R 1 W TR

@
statement Tl alone s sufficient to amswer | AT R TR

the question.

@) The statement 1 alone is sufficient to \ @ FR1 ﬁ%ﬁwmw%ﬁmi
answer the question while the <t TR 1L S T W ||
statement 11 alone is not suificient to | T
answer the question.

@ The statement 11 alone is sufficient 10 \ @ FRU ekl TR I
answer the question while the data it ¥ watEm o9 1 THd, TR TR
statement 1 alone is not sufficient 0 \ T
answer the question. \

\

: . . L s 5\

- 15, - Inthe given continuous patternt series sOme \\ 15, @R W;ﬁ ?;;ﬂi‘?%ﬁ;: w‘i‘;
. of thelettersare missing. These missing letters \ 3‘*‘«“; m’{@“;‘%\ i Al ¢
are given in that order as oné of the four \ M F CEREUR e

alternatives pelow the series. Find out the \
correct alternative. \ ;
B _AC _CA ,BCAC o
CB_AC_CA_BCAC__A \\ CB AL M0
(1y CBCBA
1) CBCBA \
() CCBBC
2) CcCBBC \
(3 CBCBC
(3) CBCBC |
| @ CACBC
(4) CACBC . E R
- U‘}g N o7

TS
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18.

19.

16. Among the following which planet has the

17. Which of the following Fundamental Right(s)

PART - Il / 4T - 1
GENERAL AWARENESS / W ARGl

largest number of moons ?
(1) Mars

(2) Saturn

®)
@

Mercury
Venus

is/are guaranteed also to the non-citizens by
the Indian Constitution ?
(a) right to freedom of speech and
expression

(®)
©

right to life and personal liberty
right to assemble peacefully and
without arms

Choose the correct answer from the codes
below :

(1) Only (a
(2) Only (a
() Only(a
(4)  Only (b

and (c)
and (b)

A magnet exerting a force on another magnet
is an example of
1

—

Electrostatic Force
Gravitational Force
Contact Force

Non-Contact Force

CRCICEC]

Which of the following wildlife sanctuaries
was notified as a tiger reserve in October,
2022 ?

(1) Srivilliputhur Megamalai Tiger Reserve
(2)  Ranipur Tiger Reserve

(3) Kamlang Tiger Reserve

(4) Satyamangalam Tiger Reserve

18.

19.

00

LAB-2023 575

16.

17.

Wﬁaﬁmwﬁwﬁﬁmm
affeem ¥ ? :
U]
w1
qU
ke

M
@
)
@)

Wﬁﬁmﬁﬁﬁﬁﬁﬁﬁ@aﬁamm%

arfeER % o FErE e T/ gy

R 3 AR T 2 ]
(a) g iR srfircafet o TR F iy

e 3iR Safen TR 6l AR
form el et 3 WrifTqol SHEd B (T
w1 AYEHER
——ﬁ%ﬁﬁmﬁﬁﬁﬁéwgﬁq:

(b)
(©

(1) F (a) &R (o)
FEA (a) 3R (b)
Had (a)

*ad (b)

>~
EZ2BE

forl o1 g1 R Jorw W @ waw o o
Freifera ® | forgent e 32

(1) S T

() TEEHEY T|

(3) W T (TRl )

(@) Hu ed 9w (ot =)

SR, 2022 H fr=ifrd § § frg o= S
awaﬁwaﬁaﬁr%smﬁafq@ﬁa
Teran a2

() TR dmer s sy

() TR =Y R

@) \ =i = SRR

(4) TEETY = AR

21.

What percentage of the earthy's water

is fit | 20,
for human use ? i \ :

|

(1) Only 27% |
V) Less than 1% “
() Only 70% |
(4) Only 30% \\

\\
Which of the following countries won all gold |
medals- in under - 15 and under - 19 \

et e v e 36 S e v b

??

21.

Q) F=a 27%
@

1% & w1
@) a4 0%
(@) e 30%

< ofrs T e o S -0
15 9 F1 3 ¥ HA (F-15) dm19ad

categories in the South Asian Youth Table | FH AT (31%’(—19? = A et
Tennis Championship - 2023 ? \ T 2@ X Tl = e W TR
(1) Maldives \\ W) e
(2) Sri Lanka | @ Fem
(3) Bangladesh \\ @) dwm
(4) India \ @ W@
\ |
22.  Which film won the Academy Award for the | 22. ﬁqm Hafwu ijzs:‘ R AR
Best Documentary Short Film at the 95th \ wmm T TEHCH! TR
Academy Awards ? i ? .
i \ () o
(1) Women Talking \
\ @ W™
(2) Top Gun )
ot Wh | @) = e
(3) The Elephant Whisperers

4) An Trish Goodbye

23.

Population ratio ?
(¢))
@
3 1: 100

1: 1000
1 :2000

4 1: 500

What is the World Health Organization |
(WHO) norm regarding the Doctor -

\\ (@) T T T
|
|

S S 2

(1) 1:1000
@
©)]
@

1:2000
1:100
1:500

|
|
|
|
|
|
|
!
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24. Which of the following pairs of the country

and its official currency is/are matched
correctly ?

(@)

Bhutan -

Ngultrum
®)  Austia - Euro
(© Ghana . Cedi
(V] Argentina - Real

Choose the correct ai
below :

@
@
@)
@

nswer from the codes

Only (a), (b) and (c)
Only (b) and (d)
Only (a) and (b)
Only (b)

25. As per the Economic Survey of India
?022-23, the maximum percentage of schools
InIndia have, which of the following facilities
according to the 202120 statistics ?

(1) Libraries

@ Computers
G)  Girls Toilets
@) Boys Tolets

26.

@
@)
®)
“)

3 t0 18 years
4 t0 16 years
3to 16 years

3 t0 17 years

Wi
~LAB-2023 iﬁ"%;‘;
10

25.

ﬁﬂ'imftﬁaﬁ'(‘ﬂﬁ?wlﬁajw

iy () g8 %
@ E¥?

@
®)
©
(@

i ﬂ?ﬁ \
WE - ey
sfgn - @

™ -
?ﬁﬂm-m

T 2 3 g

@
@
®)
@

= 2022-23 % g
a9 202122 %

T fen iy

ﬁ?ﬂﬂaﬁaﬁmmww 3
gﬁmaﬂ—aﬁ( 2L
2

(o
@
@®)
@

FIA (a), (b) ¥ (o)
I (b) ¥R ()
FI (@) 3R (1)
FEA (b)

%wﬁklﬁ&mﬁfgg

. il ™
q @ﬂ?@m‘@r%m

TR e e ISk

(Wi, 2020%5%%

RiEE

WW>®WMW
399 q 18
499 J 16 99
39 16 o
39 9 17 o

!\»‘g\ 27.

Who among,
the book 'anerty a
India’ which offered
Rule in India for its

(1) Badruddip Tyabji

o
ecnnomm,\mpa b

(2) Dadabhai Naoroji ) \\ 0 =8 4y
@) Ao. Hume \ [P A Fern e
() Annie Besary ) \ ©) 5
\ W s
28. Among the fs\\ow'mg states of ind; ) IS s e
state has the highest Proportion D““(h“_";::h \\ 28. Twm S h*:\n = R (Lw g wy ms
in class T to VIl who tae Paid tuition da:e‘s \ TR T s S e Rty
(in all rural schools) as Per the Annua St;ms \ Rk DL
of Education (ASER) 2022 2 e SRRy
®2
(1) Gujarat \
2)  West Bengal i, 4 7
@ Re? :;“ga | R e
@) ajasthan \ @’ .
(4) Kerala \ © =
29. Which of the following fug s the highest | 29, Tt % 3 T8 10 = R T i
calorific value ? \ 2
® LrG \\ O =R
(2) Hydrogen Q &=
(3) Petol \ B W=
(4) Methane \ @ R
30. Whose decision is considered to be final in | 30.

I T S e 3 s
T TR W D S W
T frofa offom s 2

according to the grounds mentioned in the
Constitution ?

)

The Chief Election Comumissioner of \\ 1) e e
India

£ \ A R T T B
(2) The joint sitting of the:Speaker of the \ () e g_:l&l o
Lok Sabha and the;Chairman of the \ BiRe
Rajya Sabha \
(3) The President \ ) mm "
(4)  The Speaker of the LokiSabha \ @) e

(oY
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PART - Ill

GENERAL ENGLISH

(31 - 35 ) Read the passage given below and | 33.

answer the questions that follow.

While engaged in the laying of a new railwa

line, I had a miraculous escape from an awful
o B h

death. I lived in a small township, but my work lay

Some twelve miles away, and I had a small tcnt on
the works yet I often went to the tov

On one occasion, an accldent happenmg to

my horse, I got a lift into town, hoping that

Someorne might do me a similar favour on my way

back. But this was not to be, and I made up my
mind to do the ; journey on foot, shortemng the
distance by taking a cut through the hIHS which
Would save me about - six miles.

To take this shortcut, it was necessary to
Cross an ostrich ‘camp’ or farm. To venture across
these camps in the breeding season, especxally on
foot, can be dangerous, for during this time the male
birds are extremely ferocious.

Once he had to ,travel to the town :

(1) gettinga il

Y (2) onaloca i
(3) on foot ;}:

# on horsebj lzi

N

i

@
@
)
@

a guard
a ticket collector

a train driver

an engineer

35.

replaced with

31. He generally slept in :
(1)  a tented accommodation
(2)  the waiting room
(3)  a train coach

e

a staff quarter

32.  Study the following statements.

(A) Male
(®)

ostriches are fggciougby nature.
To pass through ostrich farms can be

dangerous, 36.

@D
@
©)]
(O]

Both (A) and (B) are true.
Both (A) and (B) are false.
(A) is an opinion and (B) is a fact.

(B) is an opinion and (A) is a fact.

ng) travel
(2) move
(3) dare
) go

(36 - 40 ) Complete the sentences given below

with the help of options that follow each
sentence.

The new phone.
®
@
(©)]

the competition.

blows over_.

[0k 4o}
LAB-2023 iﬁ’%? 13

O

blows away—

The narrator was working in the railways o,

37.

38.

40.

41.

Ram along with Shyam

Which of the underlined parts of the following

sentence is incorrect ?

He had hinted that he Want.?“money.

oy

® ® QG

®» O
@ @
® ®
@ ©

D)

to come. T ®Xpected | 42, Choose the option in which the given
(1) were | sentence has been changed into Passive voice,
= I T wrote a letter.
®) havebeen |
. l £ Aletter has been written by me.
G = b ‘ (2) A letter had been written by me,
@ are b | (3) A letter is written by me,
i:? ‘ (4) A letter was written by me.
She when [ ¢ {1 1 ed the hall, l‘
(1) was singing v \}éa. The law will punish whosoever is guilty .
(2) have sung \ Which of the following words can replace the
(3) ‘hassung | underlined word ?
gé) is singing “ (1) impudent
1 (2) audacious
Ramis ___ same boy that I liked most. ‘ (3) innocent
the | (4) culpable
@ ' N |
(2) no article iy
X ‘ 44. His views do not accord with mine.
@ a s | , ; ey
n ey l Which one of the following words is opposite
o \ in meaning to the underlined word ?
. ! (1) clash
1 the playgrofind’to reach the river ‘ (‘2!) R
bank. i (@) agree
@) cut bhacasgi (4) correspond
(2) cut down
@) cutinto 45. Choose the option in which the followin
(4) cut away

words/phrases can be arranged to form

\)"’

correct sentence.

(A) maylive X o}‘km
(B) eatso. W "
C€) we M
(D) that we

o) (C) (B)/ ) (A)

@ (C), ®)

® (B), ) A, ©

@ 3, © @ 0
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WW@WWWW"”“E
Wﬂ‘f(46-50)éwﬁﬁﬂm=

ﬁmﬁﬁﬁmﬁ@wﬁmml ol

g 3 7 o o s gt A 7

¥l 9@ ¥ s faem, SRR iR w
mmmwﬁﬁwﬁ‘zmmél R

Tt e 1 T 2

o firer @ ¥

46, Freferfi 3 st Treplt 0 ferden e € <
(1) STHEE BT
@) w o R
(B) e g

(4) T FHT

47. R S % ol o R
(1) el gepfed w) Al
1(2) et wepferll & o= 0
@) fadelt fomr
() forelt e

48. T # fordelt wferl % S § o gen
(1) TR S % T S R g
@) fodeh Sephe & vt g8
() v Hepfa & srefn o

sy B wEAl WA
Wty 9 Tt W o § war F T gl

52,

o)
LAB-2023 E%,{z "

-
h )

D

(9)]
%}M\ﬁ foshtd &1 gf%.q]ﬁ

@\W‘

Frafafaa § =iem |y o s 7 ¢

53

54.

55.

56.

ﬁﬂfﬁf@ﬁﬁ.%m%; | 57. ¢ ey’ H WA R
@ R AR Ry \\ [ FE
e & % YR o 2 \\ i
(3) T RIGR RTINS \\ ——
(@) I o Tk ferel g \‘ R
|
‘qraa'aﬁa’aa?ﬁﬁ@a@?ﬁm-mﬁv\\s& e e e R P
q@m-ﬁmﬁm%— | ToE Ad R
@ ¥ \‘ @ el v 1 T A TR T A R
@ \\ @ swmmidfm
@ T \\ (3) E a e
IS \\ @ @ A
|
g faen T ‘\59. e ST TR W ¥ ¢
@ - \\ 1) TEIAT
@ .= \\ @ T Rl
- W E | (@) T W F
(4 -7 \‘ o
‘a
. %aﬁawﬁaﬁ’%m’@w]m R '-\E"I%
0 l s SISk e
: AT ‘i @ =
1)
( | @
@) |
AAH | g
(©)
11 @ ™
4 oEEE



dell
Stamp

dell
Stamp


61.

62,

63.

64.

PART - IV / {IT - IV

- SUBJECT SPECIFIC KNOWL

1
A plane mirror is arranged horizontally. A 61.

ray of light is incident on its centre from a
fixed source at an angle of 45°. The mirror is

* rotated about its centre anticlockwise by 10% l

The reflected ray is rotated by

@)
@
©)]
4)

anti-clockwise, 10°
anti-clockwise, 20° };“/
clockwise, 10°

clockwise, 20°

A sharp image of a distant object is obtained
on a screen by using a convex lens. To
determine the focal length of the lens, you
need to measure the distance between the :
lens and object.

lens and screen.

object and screen.

both (2) and (3).

Which of the following is an example of a
chemical reaction ?

@
@
®)
O

Burning wood
Crushing a can
Boiling water

Dissolving sugar in water

Which of the following is an example of a
corrosive substance ?

Hydrochloric acid

Water

|
|
|

|
|
|
|
|
|
|

l
i
|
|
|
I
|

l
i

62.

epcE / fm R T

; ‘When an iron nail gets . ey
N o ﬁmm 65 e e BRI Tusted, iron oxide is \ 65, mﬁ%—ﬁm“mm%m S —
A f | STafter TR .
T FFOT T T W K ith i ) ) b
Py by O et g s
° (2) withoutany change . : i
F= A1 wﬁwwm%\ A of the nadl &2 in colour or weight | @) o e
W ® (3) withoutany change in th \ X - R
oy gein eWe\gmom\e \ () = F o H o s
W\
1) e, 10° ' \
((2)) e, 20° () with decrease in the weight of the na, | (&) R T H T E
o) <fyone, 10°
(4) o, 20°

66. Which laboratory apparatus is used for \ 66, T TV I ST <h O ¥ e e e
measuring volume of liquids ? TIHT N TE fEE @ Y

Il ofe w1 I T R g (1)  Test tube

\
\

® AR

wre wiifrs T W R S R o (2) Bunsen burner \ @ TR

s e fsfen 4 3 feg, 3;‘1?@3'-{3;“ R o

i Eﬁ T ST : 3 (4) Graduated cylinder \ (@) v e

g) "SR \

(2) W IAMEHAI \ N

@) == AHAI 67. What is the purpose of a bio-safety cabinet? \ 67. o P FAR TR R

= : oz | () e T A R e R
@ @ R (@) < @ To provide a place to store biological \ .
agents. =0 P

7 § § B W TEEeE At mem @) To conduct experiments requiring high | ® ?ﬁﬁg\qﬂﬁ e

%7 temperature.

(1) <hE S ®) To provxde a safe place to work with \ g@\amﬂm wAER

() T FE biclogical agents. \ AR

(3) T AT (4) Toremove fumes from the air. \\ @ =

® Tt H AL ger

\ . M
68. What is the a;)pmxxmate nom\a\xty of dilute \ 68. EE Qﬁ NGRS & AT NLIRY

w2
e 8 | i e T W SR 2 acids in a science laboratory ? \\ @) 4N
. o &N | @ =W

1) TS gHe |

: @ 8N \ N
o oo
© W ® |
@ = L

R6
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! o 2 o et 4 50, e st D N %W Which substance is conect%y_\r}’\atched with \ 73. A T SR YISEY o e 22
| 69. ? its storage container ? sy |
| if a student miﬂfﬁ"l ! ) 1 ) . o
} 69. What should not ;; do:i ; ﬂqﬁw 2 SyAIfEr ST ekl 1) Hydrofluoric acid, glass- ‘\ (1) EgT e, FE
. as { = o o
il accidentally inhales i g'nhale ammonia @ (2) Bromine, dark colourgdgglass | o A, TR F
dent i " S D
(1) Let the studen - o R WF ﬁ:mm WA ﬁ?&m ) Organic solvents, plasﬁd'l)‘ \ (3) HAE By
urs. . ) B .
2 :':I:c;mdent should be given fruit juic 2 < e N (4)  Acids, metal t ‘\ @
or lemon juice to drink. @) i _cﬁ ﬂ'@ -@% I T S ‘m\%ql Q.f“‘,\ \ . PO
‘ - tim should be taken at once to at are the duties of a lab attendant ? \ 74, WA AT T il ) N
The victim Wh N
| () The a2 74- \ e AT 3 T TR R e
| an open area. @) el RIS (A To assist the teacher with experiments. | (&) N RN
A FATTEE S9eRL
(4) Let the student breathe deeply (8) To maintain the lab equipment and y ® > R ¢
: 0. W WQ{’H’E 4 wifgad m?ﬁ_:‘z ;1-:3; supplies. \\ N mqﬁxmmm%ﬁl\
70. When sodium bicarbonate powder is added . e T AT g fred 81 WM To provide safety training to the © TAHRY
" 1o acetic acid, a gas evolves. Which one of fore Pt ¥ A Fo A 2 o students. \\
the following statements is NOT tpiegor this fhe correct answer : | o 41
! ife e 3 g e . | @ FER®RO
y i @ = and (Q)only !
(1) It dissolves in a solution of sodium % | l 1) (A) m | o B SO
hydroxide. @ e SR SRR S B ® @ &6 and (©) = \\ '(3) S )
(@) Itturnsacidified potassium dictoma EaE iRl @ @ only \ @) FE@ A S (B)
| solution green. o g wRET = gfern HT A €L (@ (&) and () only |
| lime water y. | - - . ekt
\ () Ittums -t p B T it | o AT T T A
‘ inouishes a burning splinter. . < used. to hold test | 75 v o S €2
I (4) It extinguis! 75. Which lab equipment is U5gS, | TR ST S
! ; 1. sif wEm fqeta o R ? tubes during heating ? \ Q)
71. What is the function of a stopwatch in a 71. o Clamp \ o e
physics experiment ? g wa B kA @) Holder \\ s
(1) To record time intervals. o Yo 1 oo S & AT (3) Pairof tongs | © B
data patterns. N =
@ Toandyze &% P (@) @ A & fe (4) Tripod stand 1‘ ath
(3) To measure temperature. mﬁ x f?f‘ll . . T ?
e Feif <o i w1 o
Ll (4) To determine volume. @ flame is produced | 76.
1 76. In fireworks, the green LaviE |
A . = : " )
‘ ; fooht Qe & T W A 2 because of Y I g wemdC
| is the boiling point of water in degree | 72. L) o
| 72.  What is the boiling p () merc ury kY !\ ® Gform
| Celsius ? R oy
f Q) 7xc (1) 273°C (2) potassium %_;(i_,; | ) [feaq
| ; w0 \ e
| °C dium - 4
| @ 373°C ® 373 (@) sodi ) | ®
1 o) ’ ©) 0°C @ barium N
@) 100°C e e 19

18
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79.

80.

81.

LAB-2023 75

77.  When ice converts into water :
(1) heatis released
() temperature is decreased
(3) temperature is increased ‘

78.

) heatis absorbed

=

arating a mixturé

What is the process of sep:
ts by

of liquids into its individual componen
using the differences in boiling points
called ?

(1) Filtration

(2) Evaporation

(3) Distillation

@

Decantation

Chlorophyll is a naturally occurring chelate

compound in which the central metal atom

is:

(1) iron

(2) calcium

(3) copper

(4) magnesium

Which gas is used during photosynthesis ?
(1) Nitrogen

(2) Methane

(3) Carbon dioxide

(4) Oxygen .

What are soaps ?

80.

81.

(1)  Sodium or potassium salts of heavier
fatty acids.

(2)  Esters of heavy fatty acids.

(3) Salts of silicates.

(4)  Mixtures of glycerol and alcohols.

ExE
20

78.

79.

e

82

Wwawaﬁwaﬁﬁz
¢ g T

B
("l’ )

Q) e (Fﬁ%ﬂﬂ \
»]

84.

Fe TEIFES

(9 e 85.

A FE?
1) 9t el S & Hifeaw AT wE

(2 WS
(3) fafee 3
@ e st 1 e

#),

1,}otassium permanganate is used for
purﬁymg drinking water, becagisey_
L. Ao

it is a reducing agent.

1)
@ it is an oxidizing agent.
) )
(@) itisasterilizing agent. (5‘3 '
(4) it dissolves the impurities'of ater.
0

o
What is the most common type of fire
extinguisher used in the laboratory ?

(1) - Carbon dioxide

) Dry powder

(3) Water

(4) Foam )

i
When KMnO, reacts with (@félgc acid,

et
MnOj is reduced to Mn2+ ah

oxidized to CO,. Hence, 5 m

1)
@
)
)

83.

1
@
&)
@

84,

I(Mn(‘)4 is equivalent to : ([(_
(1) 25mLof02 M oxalic acf_ijd\i‘n.v'
5 mL of 0.1 M oxalic acid
(3) 10.mL of 0.05 M oxalic acid
(4) 5 mL of 0.05 M oxalic acid ‘L

*

Vi

What is the purpose of using a control group
o

in a biology experiment ?

()

To test multiple variables
simultaneously.

}penment
S i
To provide a basis for companson

(2) Toensuresafety during th ¢

(&)
(©)]

To represent a larger populahon
[£ 8!

qf'immmmmmzawmg?
F 3 feru Fora T %, A ©

7 T AT FE A T €|
7 O AMARA THE §1

v H ¥ 3 ararmrnm-:maq
S A WG

R TR

gl

A

KMnO,, S s & wd apffsea

3 F Y, MnOj, M2+ H 7ot 3 W ¢ 3R

C,0%™, 0, ¥ g & W 81 T
002\4KMnO4$T:>mLE'{ﬁT%

1 02M ifaafes TES & 25 mL

@ 0.1 M siferaiier ufds & 5 ml

() 005M Sffafas TfEs & 10 mL

(4 005 M sifafes TES & 5 ml

85. < P i o S 3 6

R FE?
(1) qwz’rmﬁwﬁwmaﬂﬁmaﬁ
% i
@ i 3 SR T YRR &
(@) e 3 fg U e T
@ @a@mﬁwuﬁrﬁfuﬁmﬁtml
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86.

87.

88.

89.

90.

What does the term “pH” mean ?

(1) Acidity or alkalinity

(2)  Optical density
(3)  Electrical conductivity
(4)  Temperature

For a fire caused by short - circuiting of an
electric circuit, what should not be done ?
©)
(@)
@)
(O]

Switch off the main electric supply.
Use a fire-extinguisher.
Throw water in the area.

Throw dry sand in the area.

Which of the following acids (A-D) along

with its appropriate salt should be used to
brepare a buffer with a pHof 457

1) C K,=18x10-5
() D, K,=23x10-9
G
et

) A K,=1x10-3
) B, K,=29x10-4

Which of these is a primary standard
oxidizing agent in a redox titration ?

1) KMnO,

(2)  Oxalic acid

(3) K,Cr,0,

(4)  Mohr's salt

Soda water contains :
(6]
()]
®3)
@)

Carbon dioxide
Nitrous acid
Citric acid

Sulphuric acid

90.

EmaE
LAB-2023 %"%‘Q

22
A

86. “pH’ Y= B T &2

) W’”ﬁ;‘:m 9%
d2) S SiEy

() TAREF Py

gﬁ) T {ah
ﬁwm%mfﬁ%ﬁwﬁm%ﬁq

T e e ? R
(1) g@ﬁgﬁ%ﬁﬂl 92.
(2) ST 49 1w w5

@ & | ar Y

4) &= ¥ g@ W@ S

ﬁwﬁf@aﬁﬁ@armm—maﬁm%
¥ 4.5%5§Hmm%mm§

‘.
1 c Ka=1.8& 105

J
2 D, K,=23%10-°
(@) A K,=1x1053
(4) B, K,=29x70-4

- (@)
aﬁﬁaﬁqm@i@fwmﬁ@mm

T S T 2 o
(1) KMno,

(2) e ufge

() Ky Cr,0,

@ e T

For burns Cause

Y st
affected part shoulq b;i:;;; (l;ot Water, the
i With .
1)  dilut ’
(¢Y] ‘ € NaHCQ3
(2) dilute acetic aciq
@) cold running .
ice

)

What is the Purpose of 5 fume hood 7

(&)

@)
@
®)
(O]

To provide a safe

place to w, 4
chemicals, otk with

To remove fumes from, the ajr,

To provide a Place to store Ehemicals.

To conduct €xperiments re

- P
1 ggwﬂﬁmu%ﬁv}mm
() 73 Nahco,

@) T uieE e

) =TT

@ &

2. W ETImas
(&) = F w5

TIH W2 # F fawy

T = B

T 1R g

% fem)

F faw)

ot o ey
(B)
G} T T ey

©)

quiring high
temperature,
(B) and (D) only
(A), (B) and (D) only
(A) and (B) only
(A) and (C) only

Fires caused by burning of oil cannot be
extinguished with water, Why is this so ?

@

@

®3)

@

Because oil, being insoluble in water
and lighter than it, will float on water
and continue burning.

Because the ignition temperature of oil
is very low and it will keep burning even
when water is poured on it.

Because oil will dissolve in water and
keep on burning.

Because reaction between oil and water
releases enough heat to provide the
ignition temperature of oil.

Y )

1) F (8) Ik (D)
@ (), @) v (D)
(@) (a) 3 (B)
@ = (a) ¥R (Q

93, %a%aaﬁ%aﬁmmaﬁmﬁ@aﬁmm
Rl TR 2
,g,) it &t W argervier oiv v we
B F H IR W I QW AR S
wmI
(2) i T BT e A9 g T B § SR
TR B R 78 e @ & 1

(8)  Hiife trer w3 e e e e
() i e o w35 i e 3

I e TR FoH 3 o A
i fremerdt €1

R6
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ample of co )
g F TR A K TG T 54 06 So Ey wei ht:ciin.tmed HyS0, is 95% | 98, 2 H,50, 1 T T o % e 8 95%
I’IZS 4 ghtand its density is 1.8 g/mL. 7( H,S0, % o 7HE T 1.8 g/mL 3 om

ibe | 98
; id dissolves canf® . . .
os. Themiest whicha soli g o el How maln{ nflL of this acid are required to ufgs % IN faeA F1 1L R F= % feu ™
increased bY * 1) ed ¥ prepare of a IN solution of this acid ? Tz 3 fRE mL F qETIRd ke
(1) Strring vigorously: ‘ (2) g A qgA 4| @ 37 mL 0 37m
(@) Adding more of the solid: o o) @ ¥ g A aﬁ:? 3 F T PN @ 57.3 mL @ s73mL
(¢ Pulverizing or grindin® o ::e SZﬁd in gt ¥ TS : @ wuIml : @ 143mL
' increase the surface ared of the 5 “ 287 ml (4) 287 mL
filf contact with the liquid- e " e T o e 3
| . to increase the ra ¢ ﬁ@-q ] . . " : e < e
‘ (4) Heating the solvent to mlecules Fhoth 5, .—,’zfrf‘a; ﬁ:{?l‘ q' o 3 ey 373 99 Which gasis the most abundant in the Earth’s | 99. 9% & argAsd 4 g ot um g SH 9
Hi of solution because themo et ' et & afera € | " atmosphere ? Y,
| the solvent and the solute will move a . €7 5
| 1 ‘ o (1) Carbon dioxide (1) e EIECIESIES
‘ ( ; (@) Argon (2 @i
e 3 9 FT ST &9 I SeTR &) oo
| 95, Which of the following is an example of a | 95. et i @ Owveen (3) =
flammable liquid ? 4) Nitrogen g) EEE
(1) Salt solution (6] wH H K
‘ (2) Vinegar # faw 100. What are the essential safety requirements of } 100. ﬁ?@'?ﬂq TR i ST Tl SARTRA
{ @) Water (G A a science labozlatory ? EZT)Q .3“; soim
N -wash station. SRS
(4) Ethanol ~ (4 A #) Ere AR s
‘ (B) Proper storage space for chemicals. By @& & forg Sfed Herr ¥ |
| (C) At least two entrance/exit gates. © A 3 & < e/ Fe Ev
(D) e & T farel & W]

96, T Ytex 3 AR R PRI 0 31 F 2 % g ) °
D) Electrical sockets near the sink.

‘ ‘ 96. An ammeter has 20 divisions between T
‘ L o0 farser B €1 RS B SIS € : R :
(1) e (4), (B) (O

Mark 0 and Mark 2 on its scale. The least
count of the ammeter is : 1 @A) (B) and (C) only
1 024 1 02A @ (), (C) and (D) only @ ¥ (A)Q\? (D)
@ 01A @ 01A (3) (B)and (C) only @ (@) W(C)
@) 002A @) 0024 (4) (A)and (B) only (4) F (A) I (B)
@ 001A n ; ) ..
| fiiva 101, You need to prepare 40 mL of a 0.15 M 521. 3T 0.80 MWW‘WWW:‘;;
97. glucose solution by taking some of 2 0.80 M 40 mL T FE 015 M%’Eﬁms b
. What does the term “flammable” mean ? 97, ‘SaaSie IS H T A §7 stock solution and diluting it to 40 mL. What 40 mL TR Excd ﬁmﬂai’ﬁf !
(1)  Producing a strong odour. Q) A 7o o1 R volume of the stock solution do you need ? i et 1 fepeit AL i
(2)  Capable of catching fire . (1) 75mL i @1 75ml
’ (2 oW TEST & 9| | @ 12M
(3)  Easily broken down by heat. N N .- (29 12M ,
. (3) SN T § g2 WM A @) 53mL
(4)  Capable of conducting electricity. . x il R (3) 53mL |
(4) TSt =1 eert A H WE @ 60mL | (4) 60mL
R6

mxE

E3E ,
LAB-2023 5 :
24
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dard unit of mass ?

. What is the stan!
(1) Metre
2 Second
3) Kilogram
“4) Litre
103. What is the chemical symbol for sodium ?
1 N
2 K
3) Na
4) So

~

|

; For preparing sulphuric acid

104. Assertion (A)
dd the acid to water very

solution, always @
slowly while stirring vigorously.

Reason (R) : A great amount of heat is
liberated when sulphuric acid is added to
water.

(1) (A)is true, but (R) is false.

(A) is false, but (R) is true.

Both (A) and (R) are true, and (R) is
the correct explanation of (A)

Both (A) and (R) are true, but (R) is not
the correct explanation of (A)

105. Aqueous solutions of the sulphate salts of

@ &
@ FEX)
(3) W
@ e
103,Wmmwﬁﬁmw%7
@ N
@ K
8) Na
@) So
104, AfueRaT () 8 ufs O IR
mqﬁgﬁqﬁﬁa@ﬁ—&ﬁ‘{sﬁaﬁrmé
foema g ATl
m(n):wﬁmamﬁmﬁma@
s i 37 R € €1
@ (A)aﬁ%,érﬁr-fm)a;%x
@ (A) B & G (R) T
P @I® & T £ 9 (R), (A)
o el
@) (A) 3 (R) T EE A (R), ()
e A T €

105. a”mq@aﬁx,yafmz?wmaavﬁ?mm
Forer] 1 A SHEI-STe e Tl S €

three metals X, Y and Z are kept in three
separate beakers. It is found that X reacts
with both YSO, and ZSO, solutions, whereas
Z reacts only with YSO, solution. Which of
the following is the correct order of reactivity
of the three metals ?

a X>Y>Z

@ z>Y>X

@B) Y>Z>X

jra'warcniﬁx, Y50, @R 250, il ferere
* Y SRR A €, SEfh Z Fad YSO,
Forere 3 a1 SR A1 8| Pt o
j:mﬁ gl 7 A F1 T
)
@
)

X>Y>Z
Z>Y>X
Y>Z>X
X>Z>Y"'

(@) X>z>Y

0]

26

O]

10

" 107.

1

)]
o
o
)
R
0w

S,
What should a Iab(att‘gndant do if they spill a

10

chemical ?
1)
@

Immediately clean up the spill
Report the spill to the lab technician /
teacher incharge

(3) Both (1) and (2)

(4) None of the?é_lggve
A Y
)
o

108. Sodium metal is lggp?%under i

(O
&~

]

(1) Water
@
®)

“

Kerosene
Petrol

Alcohol

Which of the following is not a éafety

109.
precaution in a laboratory ?

Wearing @ lgb;cjoat

Fating and drinking in the lab

6. What is the pH value of a neutral solution 7 | 106, <A faead F1 pH o1 A% ?

1
@ 14
@ 7 Ak~
rﬁ
@ 10 =
107.uﬁwmmqmﬁﬁwmﬁz
mﬁzﬁwmm?
o) 5 G 1 g A
@ T AR 1 S T
mmmaﬁﬁ&ﬁ’a‘iu
@ (1)aik(z)éﬁf|
< E &

109. ﬁqﬁf@ﬁﬁ@aﬁmmmﬁg{mwm
we?
) AT I T
}/z) e # @ S
(@) TN

() e T

R6

e —
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- qfe TSRS ¥
: G (A ’T’W(a@“m)mm
| L His ;T;“ ﬁmmgwﬁwm
tion i ilica A
| 110. IAS:;IdE olution” usebom;slo, preaks: t afg T TR F 7oy
hy' hes, IV , Wqﬁaéﬁ%
pyrex) free ©'° o U5 gifferent P it @ TR |
Reason (R) )’ » chance he remperats ﬁﬁa%?%
glass, there se it 1O shatter 4:‘(}1) ‘{ﬁ% @"ﬁ’ﬁ"{ (R) ECS i”
change, coul (1) D 2
put (R )mfalse g 8) afe (R) el
@ (A)istrue @ \[:“{Lr e
I @) (a)isfalse, it (R)is S @ B st () 3 7 6 SR, (4
[ (@ Both () and (R) are true,:)“ -gg”[aqréﬂ'l%l
‘ the correct explanation @ ( 3R (R) a’*ﬁW% Al (R), (4)3 .
R) is not @ @)
J (¢ Both (4) and (R)are 2 bt e T €
| ' the correct explanation of (A):
| < o A A A &
i 111. The main buffer system of the human blood ,}Zl- T
is:
i OH - CH,;COO0™
(1) CH,COOH-CH;CO0™ (1) N +0 . 4
() NH,CONH,~NH,CONH" @ (FHLCONH~N H,00Ng
() H,CO,~ HCO3 & ier2C03 HCO3
R
(% H,C05- oY (4) { (HoCO3~ coj
)
112. Which instrument is used to measure the | 112. fFell” ?ﬂﬂ 1 goH T % T fee A
mass of an object ? WWW?—)
(1) Balance (1), qe
(2) Bunsen burner @) T TR
(3) Graduated cylinder (@) stifd faeiex
(4) Thermometer @) iR
113. Which of the following titrations i i - N
using phenolphthalemgas an indi 5 possible | 113, % %9 rleifert &1 w
indicator ? ﬁ""ﬂ%’if@ﬁ FqFR G T
(1)  Hydrochloric acid with aniline wme?
(2)  Sulphuric acid with aqueous ammonia
(3)  Acetic acid with pyridine
(4)  Oxalic acid with NaOH

U_\

28

114 Which of the followmg statements best

115.

116.

explains why only sulphuric acid is
commonly used in redox reactions, while HCI
_and HNO; are ndt preferred ?

(1) Sulphuric acrzf acts as both an oxidizing
and reducing agent, providing
versatility if r‘e&ox reactions.

HCland HN@; are highly reactiveacids
that may mter}’ere with the desired

redox reaction. |

3) Sulphuric acid is a strong reducing |

agent, making' it ideal for redox

reactions.

HCI and HNOj are not suitable for

redox reactions due to their weak acid

properties.

J
What is the correﬁct way to prepare 100 mL

of ~10M hydrochlonc acid solution
(MM =365 g/mo]) 7~,

(1) Add83 mL'ofnconc HCI (~12 M) to
~ 50 mL off chstrlled water, stir and

mnmmmm
qu—,m-mmmm %, vt HCl R
HVO3:ETmmm={’TEIWc

1) WWWWW
mm’mﬁmﬂmmmr’m
afmmn-fg@uﬁimmm

() HCl &R HNOs R EeiE iR ERI)

e qﬁvﬂafmaﬂwaﬁmﬂ
e FTHA S

o) mmﬁmmm
qazg,mwvmmmm$m
e T B

(4) Hammosmmmﬁvw

et TR o et ST Tl

2

115, ~1.0 M TG TS (MM=365 g/mo)
>< ar—qamOmmemmmwg?

iz HCL (~12 M) % 83 mL 1 ~50 mL

make up the volume to 100 mL with

distilled water.
Add 91.7 mL of distilled water to
8.3 mL of conc. HCL.

Weigh 365 g of HCI and dissolve it in
100 mL of distilled water.

Add 8.3 mL of conc. HCI(~12 M) to
100 mL of distilled water.

Which of the followmg laboratory safety

(O]
mwnwmmmaﬁ
% e ST i 100 mL T

@ 83 mL T HCl # 917 mL g7 5
firemd |

®) 36.5 7 HCl 1 35 ¢ 3R 100 mL
g el el |

@) g HCl(-12 M) % 8.3 mL %1 100 mL
g o & e |

116. ﬁmn@mmmgmmmsm

equipments is used to extmgursh small fires ? Bt oI g  ferd fomam g2
(1) Laboratory apron @) e T
@ @ Hud
6) (3) T
“ (4) SRS
P e N

R6
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i rent ?
\it of electric curren
w

117. What is the SI

(1) Watt
(2) Ohm
(3) Volt

(4) Ampere

name for :
118. Washing soda is the common

(1) Sodium bicarbonate
(2) Calcium carbonate
(3) Sodium carbonate
(4) Calcium bicarbonate

swer
Read the following passage and an

questions 119 - 120 :

A solution of hydrochloric acid of conce
~0.1 mol dm~3 was prepared. Before a class
attempted a practical using this solut1on,. a
technician standardized the hydrochloric acid V\tlth
The technician

ntration

sodium carbonate solution.
dissolved 1.06 g of anhydrous sodium carbonate
in water and made up the solution to 100 mL. A
10.0 mL portion of the sodium carbonate solution
was transferred to a conical flask. Three drops of
an indicator were added, and the solution titrated

with hydrochloric acid.

119. What is a possible titre value of the titration ?

(1) 15.2 mL
(2) 21.1 mL
(3) 10.6 mL
4) 95mL

120. Which of the following combinations of
indicator and colour change is correct ?

(1) Methyl orange, yellow to pink

(2)  Phenolphthalein, colourless to pmk
(3)  Methyl orange, orange to yellow
(4)  Phenolphthalein, pink to colourless

30

ol
117, TaEd =
) e,
@
® I
(4) :"j:fé %
ey 4
118. oy g I
(1) ﬁf@“a'saﬁ”f“a
2 Hfeg
@) e e
e

ma}mnmlzowa‘fa;m

-S%a@ﬂ@ﬁ?mmﬁ@

ffarad

fear ~ 0.1 mol

Hifem et faEE & e TESEAIR o
e 3 T see 100 mL F1 e S femn
i e ot ¥ 100 mL. el 1 T YR
e TR o T T R A
Wﬁﬁ%ﬁﬂﬁgﬁ@mmﬁm
fR T

T
E'ﬁ‘;}n‘y
s |
119. T8 STFATA ¥ T FE AT T T TRl § -
1) 152 mL
) 21.1 mL
3y 10.6 mL
(4) 95 mL

120. Hehaeh AR U1 IRewA =1 Frfafea & @ s @
(1) "
(2
(

—
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